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When |looking at the graph, first make sure it is a
function. Then...

» Symmetry about the y-axis=EVEN FUNCTIONS
« Symmetry about the origin-=-CQDD FUNCTIONS
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Al +he exponents Ore
Zven éve_V\ ( inCF\DuoUng 2 ¢ ro) Constad

Oid: All +he ex ponents N&M

Determing from the equation if the polynomial is even, odd, ar neither. 0
o &
a(x) = x° - 5x dix)=x"- 3
odd Neither
bfx) 5&— A@ +@—€ e(x) = 4x’ - L’x‘; + 3_r.
(\C ‘ " o 4 Y Dd d
c(x) =x"-2x"+3 fix)=x"- 3
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Average Rate of
Chaange
%S\ope , Y=mx +b

M = }jl‘ﬂ\ _ 'riS'Q—
X.2-X, un

Constant rate o+ chanoc
linear = Same Slope

\/omab\e reate of change«
exporuntial o guodratc
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MPLE: For the funetion f{z) = (2 = 3)7, whese graph is shown in the Figure below, find T
verage rate of change between the following points: |

r=landr=13

113 f
r=dand r=7 .

\

)

x mEE o Find the average rate of change.

. fr'om x o Xz 2
\ Suppose the temperate at 1:00 pm was 82°F and at 9:00 pm the
—+— o temperate was 70°F'. What was the average rate of change of
1 !\k ] f i
' _3 ‘53 ' xz 3 the temperature over that time interval?

S bfromx 2 to 5 3(9\ ‘1‘5-
LB Re , SE%Et
o-"3 3.

5 -2 3 Find the average rate of change for each of the fclllcn.\rnflg2
d the average rate of change from x = 0 fo x = 3, a} f(x)=3x+5 Gemx=21g,x= ‘3‘7 -
7-\ Ils ( 5 \ "'") 2

X 0 1 3 3) 4 B g(x)= 1+-1-[wm\ ”ts’r(%

flx) \ 3 6 12 24 48 o hix)=% frm.u 1__10 x=

( ( 3V14 d) Write a conclusion regarding how you can use the averaft rate of change to compare 1hc
O| | Y three funchions on the given mterval

24-3 L 2| -7 2,53Y4-
3-0 3 ! ‘23;*-\-*:\3




	Page 1: Nov 8-10:37 AM
	Page 2: Nov 8-11:06 AM
	Page 3: Nov 8-11:37 AM
	Page 4: Nov 8-11:36 AM

